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ECONOMICS

Paper : ECO0100104

(Introductory Economics)
Full Marks : 60

Time : 2% hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions : 1x8=8
wee Al ePTRs Ues Al & :
(@) What is supply ?
e B2

(b) Mention one cause of shift in demand
curve. :
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(d)

{g)

‘ LWhen demand is perfectly melastlc,
»elastlt:lty of demand (eq) is zero. ‘

Choose the correct answer :

GST is a/an ~___ (direct/indirect)
tax. -

um Ce0o! AR Bfevea ¢
GST (RR@Bl__ (eroys /=) |

Mention one canon of taxation as given
by Adam Smith.

S 29 TS $99 9B w4 1 @R e
Fill in the blank :

NDP at factor cost is (Domestic
Income/National Income).

AT 5B A7 41 3

T 73S NDP T2tz | (CEIRE)
G =) | '

What is ‘ex-ante’ savings ?
‘ex-ante’ e e

Write True or False 8

T o g e ¢
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(h) What is the main cause of
unemployment according to Keynes ?

(PR Mo a3l PR 6 IR Fe

2. Answer any six of the following questions :

2x6=12
wee Al el 2o o] Oed feral ¢

(a) What is opportunity cost? Give a
suitable example. -

A T T2 @Bl Toige Trigad |

(b) Write two key characteristics of
monopoly that distinguishes it from
perfect competition.

GIFHH R ISR 70 O A6 @Y S T
@ 5 eforiiToneEs o1 [ 27T 44T

Sell
(c) Define ‘primary deficit’.
‘eliafii wifo’s et G|

(d) Why is production possibility curve
(PPC) concave to the origin ? Explain.

Teofine TeR=ITe! @@l (PPC) o1 wfia @l
eRos i F9 |

1 (Sem-1) ECO/G - 3 { Contd.




(e)

(9)

()

Point out two differences between
capital accounts and current accounts
of balance of payments.

Wwﬂaﬁﬁmwwﬁi—ﬁmvﬁ
W'ZFT‘?{TQ@W e |

Define producers’ surplus.
Cerme Fifes ke fordi |

Suppose GDP is Rs. 5,000. Domestic
residents receive factor payments from
abroad of Rs. 250. Foreigners receive
Rs. 100 as factor payment from this
country. What is the value of GNP ?

49124 Rs. 5,000 (202 GDP | 9541 SIq30E

U™ 51 Rs. 250 o 73 OiE Roric

4% (749 79 Rs. 100 W& 7 | GNP I 357
%Slili’?i‘?

Define multiplier.

I K@l fora |

Mention any two reasons behind shift
In aggregate demand (AD) curve.

Wmf%m&m AD ) RIS I Rgpcal 7o
FI9 Sz 79
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3.

0)

Define purchasing power_parity (PPP)
with example.

SweerE @ e el (PPP) 3 kel |

Answer any four of the following questions :

: 5x4=20

Tﬁmﬁmﬁmmmﬁmwﬁma

(@)

1 (

(d)

Distinguish between National Income
and Domestic Income.’

2fE o O e S Al

State and explain the central problems

of an economy.

< S (@I AR o7l e il
STeECHEl |

Explain the characteristics of perfect

competition. |

ﬁﬁmfwwmﬁmaﬂmw|

es and indirect taxes

in direct tax _
Explain 5 inerits and two

and mention (W
demerits of both the taxes.

. &
ooy % AT S I 4 S £
s SEjfel G 4| ‘!
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(e)

(9)

(h)
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‘How is market demand curve derived

if two individuals have different demand
curves for the same product ?

AIHEIR Bl AT 2 1 et e
fenyses vifen @R R =@, core T@R
oifenl (341 g sif¥® =°7 3y 541 |

Explain average propensity to consume
(APC) and marginal propensity to
consume (MPC) with the help of a
suitable diagram.

. TG (St 2ol (APC) O e (oist aigeret

(MPC) i<l 401 ©oige oeq Fgime i <51 |

Distinguish between Elasticity of
Taxation and Buoyancy of Taxation.

31 RfozTel wis 791 2ifFer sk
(T4 |

Derive the formula of income elasticity |

of demand. If income elasticity of
demand is negative, what does it
signify ?

Bﬁmwﬁ%ﬂ%@@a@ﬁaﬁmwmﬁ |

& s

Answer any two of the following questions :

10%x2=20

(@)

(b)

()

State and illustrate the law of demand
using demand schedule and demand
curve. What are the exceptions of the
law of demand ? 6+4=10

iRt RIRCG! el | BifRt gl i Bifet
FziTe bifgwl R 11 41 | vifRal [igs FreR
& 52

Describe Keynes’ General Theory of
Employmént and Income with the help
of ‘a diagram. '

Baa 2GS (A P! S SR ﬂmﬁﬂ
et Rk fmt |

Narrate the steps involved in estimation
of national income by Expenditure °
Method of national income accounting. .
What are the precautions to be - .-
undertaken in this method? 6+4=10.

a@nmﬁmmmﬁaﬁfwmm




(d) State the two conditions of equilibrium
of any firm. Explain how equilibrium
price and output are determined in a
competitive market. What explains the
efficiency of market equilibrium ?

2+7+1=10

RICHIE vl S aiE o 59
7ol o1l | 924 etfetaifielprs q@Re (@EE
SR W& O B fidige s =8 I
T TGS TS| (S WG [ 2

(e) Illustrate Progressive, Regressive and
- Proportional Taxation with diagrams.
: 4+3+3=10
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